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5. 3 marks are allotted for correct answer of each _— .
T’ frerr ifgfr & WE SR o FHT: RAAT FH A 3, 2
question of section A, C, D and 3, 2, 1 and 0 marks N e & re
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Section-A / YFT-A
Mental Ability / AT ek AT

A square transparent sheet with a pattern | S.
is given. Figure out from amongst the !
four alternatives as to how the pattern
appear when the transparent sheet |

would a
1s folded at the middle line shown.

Yo aTeft Tk SRR qRes e & TE 7 |
=R feedt § & 78 var o fp e
wey el W ureH! wie i ey Wi |

e foamg & |
Question Figure / SR 311?% :

o\
Mo
Answer Figures / 3T{ a@ﬁl?ﬁ :
N N

ol Rl |
A ®  (© (D)

In a class of 60, where girls are twice than |
that of boys, Mihir ranked seventeenth from

the top. If there are 9 girls ahead of Mihir,
how many boys are after him in rank ?

60 Y Teh el U, & TSfhal Tgh! i
T 4 gt 8, fufeR S o wed woH

m%|aﬁﬁ%¢ﬁaﬁ9aﬁsﬁ%‘,?ﬁ§

fora e I (m)ﬁwﬁsaﬁ% ?
(A) 3

©) 12 ED% 23

What was the day on 20" December, 1985 ?

EA) Monday (B) Tuesday
C) Thursday (D) Friday

20 femsr, 1985 i @1 fe o ?
(A) THER (B) WTAdR
(C) TraR (D) AR

Find out which of the figures (1), (2), (3)
and (4) can be formed from the pieces ;

g_ll%enmﬁguregX).X 5 wﬁ
(1), ( 34%:(4)(33@%%@#@

,(2), 3
ey

W\ 2N

O @ & ™
(B) 2
(D) 4

X
(A) 1
) 3

A clock gains 15 minutes per day. It is
set right at 12 noon. What time will it
show at 4:00 a.m., the next day ?

T g Ufdfed 15 fime 3m st @ | 9’
e 12 & 31k hl Il 8 | 30T feq
Td: 4:00 S 98 A1 THY ST ?

(A) 4:10 am. (B) 4:45 am.
(C) 4:20 a.m. (D) 5:00 a.m.

Select the missing number from the
given alternatives :
%Qﬂqﬁwﬁﬁ@qmﬁgﬁq

11 |24 | 13
8 |12 ] 10 10
16 | 9 ? |13
(A) 11,13 (B) 12,20

(C) 22,12 (D) 9,13

Choose the figure which is different
from the rest.

T STRBIT G A1 STeh! SRR H TR |

slvai=sliell=

- @ & @ O
(A) (1) B) 3)
©) @4 D) &)
From the given answer figures, select the

one in which the question figure is
hidden/embedded in the same direction.

& TS IT SARIAT § F 38 Teh T =4
vl e T e T F feoeyafafifem
2l

Question Figure :

MR

o

Answer Figures :

T SATBIAI :

$ ey

A B © D
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How many triangles are there in the figure ?

Frepfa # fobe By 8 2
(A) 12 (B) 16
(C) 14 (D) 18

A person moves in north direction by 7

km, then turns left and moves by 4 km,
again turns left and moves by 9 km,
again turns left and moves by 4 km. How
far the person is from initial position ?

(A) 2km (B) 11 km

(C) 13km (D) 16 km

Teh =gk IR femm | 7 fopet =erar &, T
18 a1 B 31K 4 foret <roran &, e & amd

Tea1 & 3 9 forht = 7, fhe & wnd

Tl B 3N 4 fortht =rerar & | =3tk gRfres

eafa & fepafi T2 7
(A) 2 foprft (B) 11 feptft
(C) 13 foprft (D) 16 Teptft

In the following question, select the related
word from the given alternatives :

fertilizer : crops : : ?

(A) teacher : education

(B) tonic : body

(C) chlorine : water

(D) pesticide : rats

freferfa e & fog 7o fospedt & & |

wfmwﬁgﬁn
IHh : B

(A) ﬁzr&a%s.%rm

(B) Wiraeies 3w : TR
(C) FAR : 9Tt

(D) I : T

How many numbers from 11 to 50 are

there which are exactly divisible by 1
but not by 3 ?

11@50@%&%%@%3%1@

gufd: foursr & oifer 3 A 98 7
(A) 21 (B) 25
(C) 15 (D) 27

13.

14.
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Here some words translated from an
artificial language are given.

slar means jump

slary means jumping

slarend means jumped
Which word could mean “playing” ?

TET T T I o I e M F |
slar 37T Jjump
slary FAYTq jumping
slarend 37Td Jumped

Torer wog =1 37 “playing” B HHAT ?

(A) clargslarend (B) ellaclarg

(C) clargy (D) slarmont

Assertion (A) : A mixture of salt and
ice gives temperature below 0 °C.

Reason (R) : The salt raises the freezing
point of ice.

(A) Both (A) and (R) are true and (R) is
not the correct explanation of (A).

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

AN (A) : THH I FH H1 O
0 °C & = <1 AUHM AT R |

HRUT (R) : T 6 < {&Hish bl ST & |

(A) GHT (A) 3T (R) & & 3R (R), (A)
T TE TR TR 2 |

(B) GHT (A) 3T (R) F & 3R (R), (A)
T TE TR 7 |

(C) (A) & 7, Wtk (R) Tod 2 |

(D) (A) TTeTd &, <ifeh (R) WET 7 |

Arrange the words in a meaningful

sequence.
1. Police 2. Punishment
3. Crime 4. Judge

5. Judgement ’ .
ITegi sl STAYUT s W e i |

1. gfet® 2. Gl

3. IqUY 4. e

5. Tl

(A) 1,2,3,4,5 B) 3,1,2,4,5
(C) 3,1,4,5,2 (D) 5,4,3,2,1
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16. Statements : Some books are pencils.
Some pencils are pens.
Conclusions : I. Some books are pens.
II. All pens are pencils.
(A) Ifonly conclusion I follows.
(B) Ifonly conclusion II follows.
(C) Ifneither I nor II follows.
(D) Ifboth I and II follows.
Fo : T foparel A |
FOUFATE |
frepd . 1 o fpae i |
11 weft 9 Ufere 2 |
(A) Afe haet Fshy 1 3TERw L 2 |
(B) fe shaet Fssh 11 STER0T e 7 |
(C) el T 3T &Y I SFTHOT HLedl 2 |
(D) Afg I 3T 11 gHT 318 i & |

Directions (Q. No. 17-19) Read the
following information carefully and answer
the questions given below it :

G is the mother of F, who is the spouse of D.

M is the daughter of D, who is the only brother | _ L
. 8 | 18 off wfgen fehean v o w9 § T St

of C. E is the son of G, who is married to H. A

is the niece of C, who has no sister and is
unmarried. T is the father of D and has no
daughter. V is the sister-in-law of F. G has
only two children. M is the granddaughter
of O.

e @8, 17-19) : FrafciRaa Sres =t
afeu 37 3Ees e feu e TeHT % ST i «

G, F 1 af g, St D & 9t 8 | M, D <l T 2,
ST C T Sheid WS B | E, G &1 I 7, @kt
fame HA g3 7 | A, C <t Wit 7, fomreht 18

& 7l B 3T Aol & | T, D 61 i & 3R
3Hh! HIE P TR | V,FHR w8 1 G |

FAAGTHE | M, OHI I 3 |
17. Howis V relatedto M ?
(A) Paternal aunt (B) Maternal aunt

(C) Sister (D) None of these
V, M ¥ forg s deftd @ 7

(A) =T=h (B) =

(C) & (D) 3 & I8 TEf

18. How many female members are there in

the family ? ]
giEaR ¥ ferat afgcn ge= 8 7
(A) 7 (B) 4
©) 5 (D) 6

NKP
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19. Who among the following is the sibling

of F ?
frefafgaaa s FRTaR/EET g ?
A G (B) H

© Vv (D) E

. Directions (Q. No. 20-22) : Eight people of
which A, B, C, and D are women and P, Q, R,
+ and S are men sit around a circular table facing

towards the centre. None of the women sit as
immediate neighbour. A is not facing B. Q,
who is immediate neighbour of C, faces P. R is
immediate neighbour of D but not of C. D
does not sit second to the right of C. At least
one person sits between A and R.

s @@, 20-22) : 318 =Rk W @ A, B, C,
3R D ufgemd § 3R P, Q, R, 3 S W &, Th
TR BT o =IRI 3TR hg hl 3R TE hleh 53

FIASI @ B H IR R | Q, 5 C i FeheeH
TSIl 2, 3HH1 §@ P 1 3R B | R, D 1 FebeaH
Sl B, T C T | D, C % 2 & g e

THEF | WA da1E | A 3 R 3 o @ v e
iy

20. Who is sitting to the immediate right of S ?
S % Jteh €13 i 93T 2 ?
A) C (B) A
(O D) Q

21. Who is sitting in front of B ?

B % HHH S §31 8 2
(A) D (B) C
©) S D) Q

22. How many people are sitting between R

and C if counted from right of R ?
R % €& ¥ i W W R 3R C & 7ed

fr =fr a3 8 2
(A) 1
) 3

(B) 4
(D) 2
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Find the missing figure in the series

from the given answer figures.

aﬂéwa@%ﬁﬁﬁa@wﬁ@
AT I Ha HfT |

Question Figures :

AT
5%

Answer Figures :
D)

®

gt
Vo s |\va

GGV )

Which number would replace the

question mark in the given series ?

@ TS gl § yeaTEs fUg % WH W

i = g 3wt ?
2,7,14,23, 7,47
(A) 28

(C) 38

(B) 31
(D) 34

If in a certain code language SECURE is |
coded as ERUCES, then how is SALINE |

coded in that same code language ?

aﬁ%sa%ﬁﬁaa@mmﬁ SECURE?ﬁ

ERUCES % &9 ¥ feag B smar 2, @ |
3Gt Fe W | SALINEﬁ%éw
feran ST 2
(A) SALIQE
(C) EALINS

(B) ENILAS
(D) ERUCES

If GIVE is coded as 5137 and BAT is |

coded as 924, how is GATE coded ?

Ff¢ GIVE I 5137 o &9 H %eag foral
T 3N BAT %I 924 % &9 H Fe9g |
fepa T B, zﬁGATEﬁ%éwﬁw

S ?
(A) 2547 (B) 5724
(C) 5247 (D) 2457

27.

28.

GET IT ON
Google Play

Select a suitable figure from the Answer
Figures that would replace the question
mark (?) :

IR AHAN H § I I9Gh IHId H
T i S warEs g (2)
FcReeriud T

Question Figures :

SR TR -
e $ sleeoe
AN < ?
@ (b (© (@
Answer Figures :
I AT :
° ° ° ° °
° °
> 2 KUK
o @ 6 @ O
(A) (1) B) @)
© 3 D) 4
Which of the following diagrams
correctly represents the relationship
among Smokers, Bidi Smokers and

Cancer Patients ?

frfafied 5 & M @1 3@ guaH wH
e, e I ATt 3R Shex YR o i
HeY I T8l & { QU1 & 7

NKP
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29. Directions In this question three 30. Find the missing term in the following :
statements followed by two conclusions | e #Hifsm -
numbered I and II have been given. You | RRLACEL '
have to take the given statements to be | J E
true even if they seem to be at variance E 151 17 L
with commonly known facts and then !
decide which of the given conclusions i J 241 29 C

. : N ?

logically follows the given statements. |

Give answer. (A) M B) Z

Statements :

C D) S

i. 0% frocks are pants. ©Q ®)

ii.  All shorts are frocks.

iii. A few jackets are pants. 31. Directions Study the following
Conclusions : question carefully and choose the right
I.  Not a single pant is shorts. answer :

II. A good number of jackets are not Statement : Be humble even after being

frocks. ) victorious.

(A) Ifonly conclusion I follows. .

(B) Ifonly conclusion II follows. Assumptions :

(C) Ifneither conclusion I nor II follows. I.  Many people are humble after
(D) If both conclusion I and IT follows. being victorious.

e : 5 5o | W 3 36 1 T II. Generally, people are not
feshd 1 311 feu e & | st few o humble.
HH T 1:|'|=|=r[ A W el (A) If only assumption I is implicit.
4 fird El’_@% L ﬁ;{a-q w3 fou (B) If only assumption II is implicit.
T st § @ i GT HUHT T dlicheh €9 | : wl ...
3 3 (C) Ifeither I or II is implicit.

STAHL hidl I
| ! (D) Ifneither I nor II is implicit.

i (;VT;b‘T%BﬁZ%‘l Trew : fafefaa wem o1 ermgde 31eRH
. 6 . .

i i e E i TR T ST HT T R

i, TOARUE | A : ool 8H o a1 i fomm s @)
Ty qrud ;1 g & @ Rt 2 % ae
I wwhdftiewic i ICEERICEN

II. Sehel <l Ueh 7= HEAT Wik 81 & | 11 S R e 2 |
(A) afe paet frsshy 1 3170 T 7 | .

(B) aIfe et Freapd 1] SOOI AR | | (A) 3 et ST [ SRFfe 2 |
(C)aﬁq?ﬁﬁr&sélaﬁwﬁnm (B) fe et amom 11 FHaffea 2 |

HA 2 | N . (C) Ffe=mat 191 11 siafifza 2 |
D fssh 1 II S | .
(D) = Gl (D) afg T 13 €l 11 3iaffea g |
NKP 6 a
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Directions (Q. No. 32-34)
the questions given below :
Seven persons namely

like seven different fruits namely Apple,

Mango, Banana, Orange, Kiwi, Guava and !
Strawberry. Each of them works in either of
the three companies TCS, Wipro and ITC with |
at least two of them in a company. R works in !
Wipro with the one who likes Banana. U does
not work with R. P works in ITC with only the
one who likes Kiwi. U does not like Apple. T

works in TCS with the one who likes Apple. T
does not like Strawberry. The one who likes
Strawberry works with the one who likes
Mango but not with R. S works with the one
who likes Guava. S does not like Banana. Q
does not like Apple.

&R (9.9, 32-34) : frforfiad el 1 e
3T o SR T w70 7T o6 STE
o =Afh 31Uq P, Q, R, S, TU3ﬁTV‘v‘I‘I’d

mmwmﬁaﬁa,m T, T,
EACTN d-IH{t\c;E':ﬁ'{%QIGRI q4e eh{d% | T

Y o HAMH—T TCS, Wipro 3R ITC H &
et wep 1 T LT 7, Mru-lﬁwﬁwaw

HETH S | R, ﬁﬁwc;ehu STl SAf<h o |1
Wlproﬁwm% | U, R & &Y S &
FE@ 2 | P, ITC ¥ de1 39 =IR6 5 A9 F&
T & R it 78e 2 | U i a9 9o T8 B |
T, 99 Y8 % oA AfE o 919 TCS | %1

W%'T@WWﬁ%laﬁ'sﬂﬁsﬁﬁ
Rﬁﬁw I8 HH THG T STed Ffch b 1Y

T AT & AT R o HY &1 | S, &S GHe
U el Ak & H1Y 1 BT & | S I hedl

THE T2l & | Q I e THE T 2 |

32. Which of the following combinations
: 36. P represents :

represents the persons working in Wipro ?
ﬁﬂ"%ﬁ@ﬁﬁﬁaﬁ?WWeroﬁ

hTH L Tt SATRAT bl c;-‘«’ll('ll % ?

C) UTR (D) R, Q
33. Which combination represents the

company in which V works and the |

fruits he likes ?
(A) TCS - Apple (B) TCS - Banana
(C) Wipro - Guava (D) ITC — Mango
°b|"| 1=|T IS 39 °b“|"|| El

g7
(A) TCS - && (B) TCS - el
(C) Wipro - 3&q (D) ITC - 3™

Study the |
following information careﬁllly and answer |

P,Q,R,S,T,Uand V |

GET IT ON
Google Play

34. Which of'the following statements is true ?
(A) R works in the company in which P
works.
(B) U works with the one who likes
Mango.
(C) None of the given statements is true.
(D) S works in Wipro.

freafafga semi g a R AT a2 7

(A) R 39 &l & %m wtar g e p
HTH BT R |

(B) U 3™ T8¢ & dcl Ak o @1
T AT 2 |

(C) feumu e A A g N T 2 |

(D) S, Wipro TSR R |

Directions (Q. No. 35-37) Study the

following diagram and try to answer the
questions accordingly :

féw (w.g. 35-37) : F=fefaa sm@ = s

Wt AR ST T IT G o1 SATE % ;
Intelligent
afgE

ABrave
Selgt
A% D Handsome
35. Which letter among the following
represents intelligent but not brave or
handsome ?
ﬁtrl%rﬁaa 4§ eH O AR gigam,
TRl SRTGY AT et 78] ol ST & 7
EA) T EB) Q
O Y D) U

(A) Intelligent onl

(B) Intelligent and handsome
(C) Brave and intelligent

(D) None ofthese

P?{-‘Fﬁ?ﬂ%:

(A) Foe gfgmH  (B) ThgHE ARYR
(C) T IARFGAA(D) T8 ¥ HIE T2l

37. Who among the following is brave but

neither intelligent nor handsome ?

ffiRad 4 § #F @I 7, oAfeh 4 @

g g s AL ger 7
(A) Q (B) R
©) S (D) V

NKP
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Select the related letter from the given

alternatives.

feu Tu ferspedi § & Tafera 318 @ gfw |
(A) ZXVT (B) YXWV

(C) XVTR (D) WVSQ

Which of the following diagrams
indicates the best

Football, Player and Field ?

o o 1 o T 3 Peatd, Raemdt 3t

e o o TeH 3790 H9Y I G 8 7

(@ v
© Y (mCD

Arrange the following words as per
order in dictionary :

frefetiaa oTegi bl SI&gehI o HATIER |

TG hIT :

1. Ambitions 2.  Ambiguous
3.  Ambiguity 4. Animation
5.  Animal

(A) 3,2,4,1,5 (B) 3,2,5,4,1
©) 3,2,1,5,4 (D) 3,2,4,5,1

Select a suitable figure from the four

alternatives that would complete the
figure matrix.

= ferhedi § @ Toh IUYRh SATHAT FT 5o

oL Sl e 3TTeplt b g0 L |

IR
2T
F|F| 2

+
3

(A) (B)

| |-

©) D)

relation between |

42.

43.

44,

GET IT ON
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If P denote ‘+’, Q denotes ‘-, R denotes “+’
and S denotes “x’, then 18S36R12Q6P1 = ?

I PHT AT+ 8, QHT 31 ‘B, R
Fd 0 IS H oI xR, oA
18S36R12Q6P1 = ?
(A) 115
(C) 55

(B) 65
(D) 49

If North is called North-West, West is
called South-West, South is called South-
East and so on. A person walks straight
from South-West to North-East and
turns left. Walks straight and again turns
left. Now at what direction is he facing ?

(A) South (B) North-East

(C) North (D) South-West
Ffe I ! IT-UfT=H gl Sl 2, TiT=m
I lqur-ufeam el Sar 7, faur @
efequ—gd e Wl @ SR g e A |
T S glav-ufeem & e Ia-qd
3R =retaT 8 3T amd gear @ | He gerar
3R AL & 10 g1 7 | 379 35eh1 g@ ford
feam <t 3 7

(A) i
(C) I

(B) -
(D) TfEror-ufgam

From the following positions of dice,
find which will come in place of *?’ :

urEl o Frefafaa feafen @ s Hifsg
o6 <2 o TUW W B | M
4 5 1
2 P 1|2 6|’
(1) (ii) (iit)
(A) 4 (B) S
©) 2 (D) 3
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Select the correct mirror image of the |
given figure, when the mirror is placed

to the right side of the figure.

ﬁﬁmaﬁaﬁm@%wwﬁ
T 2T 1 STTHR 6 TS IR T S |

Question Figure :

I

Answer Figures :

A ) e

(A) (B) ©) (D)
Choose the missing term in the given series :
& TS 7@ § GF S Sl g ;

KMS5, IP8 GS11,EV14, ?
(A) BX17 (B) BY17
(C) CY17 (D) Cz17

Q is as much younger than R as he is
older than T. If the sum of the ages of R |

and T is 50 years, what is definitely the
difference between R and Q’s age ?

EA) 1 year (B) 2 years

C) 25 years (D) Data inadequate
QRIGUSME DAL AT e T o
w1 ® | Ffe R 3 T <l 3119 =1 3 50 o9 |
2, ?ﬁﬁﬁaawﬁRaﬁIQﬁmésaﬁa
el SR 7
(A) 199
(C) 25°9

(B) 2 a9
(D) 3T9ITH STeT

on the best approach for a new project.

Option A is cheaper but has a higher risk of :
failure, while Option B is more expensive :
but has a lower risk of failure. Which

option should the team choose ?
(A) Option A
(C)_ Both options
RILCIN BT ELEA

(B) Option B
(D) None ofthese

qﬁeﬁw%maﬁwg@aﬁwmﬁ;‘é
A TET g

ﬁﬁ el TR 2 | faeney
cifehd EH fawerar &1 gy
Saf fawew B s wam

formerdr =1 Sfaw 7 8 | IW <l T @1

fereheq AT =MfeT ?
(A) fopeq A
(C) M fohed

49.

A team of project managers needs to decide

GET IT ON
Google Play

Following question consists of a

statement followed by arguments.

You have to decide, which of the

arguments is/are a Strong argument and

which is a Weak argument.

Statement : Should school education be
made free in India ?

Arguments :

I.  Yes, this is the only way to improve
the level of literacy.

II. No, it will add to the already heavy
burden on the treasury.

(A) Ifonly]I is strong.

(B) If only II is strong.

(C) Ifeither I or Il is strong.

(D) Ifneither I nor II is strong.

Y H Teh Y IR 35 TG

T fow Mo & | S qw 9w R e

SHIF T deh Teh TS doh & 3T i< TT Teh

HU T 2 |

HYT : FIT RA H Thelt 1871 Sl TR H

e a7
qh

. &, 918l & & § IR i I g
THAT T2 |
TEl, FE USThIY T I8! ¥ & Wil o151
! 3TN QT o |

(A) AfE Haet 1 799 2 |

(B) IfE haet 11 ASTEA 2 |

(C) AfG =l 131 11 77 B |

(D) AGAAMIMAN N TG 2 |

Choose the correct water image of the
given figure (X). ’
& T AT (X) ol TR ST B T |

Question Figure :

R :
MxeereerreeeTn N
(X)
Answer Figures :
IR T
(A) (B) © (D)
NKP
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GET IT ON
Google Play

Section-B / {HT -9

Teaching Aptitude / T3reqor 31'&13!'%

Teacher may learn the skill and art of his
profession by

(A) Observmi TV Programmes

(B)

(C) Working on Computers

(D) All of these

et 39 U & HImA AR HeAT B
T HE Thar g |

(A) il SrIshAT 1 e

(B) WG

(C) I T HH Al

(D) I8 &4t

Micro  teaching in B.Ed. for

Communication skills is necessary-
(A) For self-evaluation

(B) For completing course

(C) For development of various skills
(D) For page feed

&1.78. (B.Ed.) H g&gw freor ¥=R sierd
o fog TER |
(A) JTTH-TeThA < foTu
(B)
(C) fafir shteret = faepm & fom
(D) I8 I % forg

Information regarding National
Education Policy and related activities |
shows —
(A) Awareness of a teacher towards |
literature :
(B) Political consciousness of a teacher
(C) Vocational interest of a teacher |
(D) Earning potential of a teacher
st fen Aifa s gt ittt %
TR H SRR I femmedt 2 ¢
(A) ETiec % Wd Tk freres sl Skl
(B) Weh fretes Y Tetfiferes =

() e e & e fR

(D) Ueh f3etes <t HuTS &

10
|Yellow = 3M | Green=2M | Blue= 1M |

54.

5sS.

56.

The more confidently you give
instructions, higher the chance of a
positive class response is due to

(A) Use of Voice

(B) Use of Appropriate space

(C) Use of Body language

D

1(%1?)|=n34fw STeAfITEE ¥ 379 e o
g, % IO HeT ! HhRIHS
et <6 TTeRT 3 €1 3T B 2 |
(A) JATE & I9AT

(B) 3 T & 3w

(C) SIHITeh WTST S W=

(D)) I H ST
Good Teachers need
(A) Interpersonal Skills

(B)

(C) Both Interpersonal Skills and
Intrapersonal Capacity

(D) None ofthese

370 Trerent & fetw JATITS B |

(A) IAdfheh izt

(B) ’

(C) JAqSAThh DI 3R ITRENH 0T
&l

(D) S8 ¥ IS T

Excellent and effective communication

is characterized by following elements.

Arrange them in a proper sequence
1. Taking action

2. Noticing

3. Knowing

4. Flexibility to change ’
3chy 3R IwTE AR Frfefea i 6
Torerea 2 | 3= 3fud ohm 4 safem &t |
1. hRATS T

2. ©SE

3. SIHEAT

4. ¥Fed o foTu T

(A) 1,2,3,4 (B) &3,2,1

(©) 2,3,4,1 (D) 3,2,4,1
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Success of any profession depends upon
(A) capability and proficiency
(B) interest
(C) need

(D) mental state

fereht oft srarEm <t Ahetar feR et 8

(A) &HaT 3T Jetora
(B) &

(C) &

(D) A feafd

Some students are absent from your
class but not from the classes of other
teachers. What will be your inference ?

(A) Will be happy to think that students

are scared of my hard temper.

(C) Will try to find the reason of their :
attendance in class of other teachers. !
(D) None ofthese

%S DA IMIhH! Hefl Y IR § wifed
3= Tregent Y waman ¥ & | IR
JTHH ST BT 2
(A) Ig Tt Gt grft foh B W H3R
WY A SFCE |

(1) Ert o BT e & i 32 Be &l |

(C) 37 fyerent <t e § Iufedfq =
HIUT S T TIE H |

(D) T8 & i3 &

What is the use of home work ?

(A)

(B) For development of student.

(C) To analyse understanding of student.
(D) To develop writing skill.

T8 ST 1 1 ST & 7
(A) BT ER T ST T HH 21
(B) M o faehr & fog
(C) BT ! THE T fIveiTor Hid & fow
(D) & e fepféra & = fog

11
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GET IT ON
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abilities determine the

performance of a wide variety of tasks.
(A) Cognitive
(B) Affective
(C) Psychomotor
(D) Manipulative

SECIACIBEREaCCaR D
eI i Fgiia et 8 |
(A) HfiIcHs: (B) HTecHs
(C) TS (D) SHe-dig

Showing care for students refers to use
of teachers’ .

(A) Appropriate Methods

(B) Behaviour

©)

(D) Attitude and style

ST <l C@UTH LT frerhi

% YN ] Gehiid a2 |
(A) SUFh alih  (B) SRR
(C) Hie (D) HAATefT 37 et

Teacher as a leader convey convictions
about a better world by
(A) Contributing to

an image of

teaching as a profession that makes
a difference.

(B)

(C) Standing up for children especially
disadvantaged and marginalized
sections of society.

(D) Acting on  opportunities
emphasize accomplishments
high expectations.

Teh a1 & &9 H f3emeh 3 Th
SEaL g+ o IR | fovams oIk hid & |
(A) T U1 & &9 | feor Y sfa o
ANTE ST S Teh I SHTAT 2 |

to
and

(B)

(C) ==l & fau fomiw &7 @ sfuq 3t
THTS o 911 o foIT @eT BT |

(D) SUdIfstr 3R 3= 3Rfigi W AR &5 &
FITEY W B BT |

NKP
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Parents of are keenly interested

in knowing what makes their children ;
tick and how teachers can help them |

make good choices.
(A) Children

(B) Under 12 children
(C) Adolescent

(D) Youth

feereaedt wad g fop 37 sl 1 . IR
AT & IR e 3= fasheq sm A
37eh1 TEE U T Hehd ¢ |

(A) &=

(B) 12 9T & %4 Y o §=

(C) Topmm/fomerit

(D) g

Every teacher should mandatorily have

the knowledge of child psychology

because it —

(A) gives the teacher an introduction to
student’s behaviour.

(B) helps the teacher in understanding

(C) helps the teacher in comparing and
identifying students.
(D) makes teaching work difficult.

Wﬁwﬁaﬁaﬁwﬁw%

TR 1 T 8T =TTeT Fifeh

(A) I8 121 1 B & STIER HT IR=T

TR |

@) I

(C)?ﬂsﬁaﬁgamwﬁaﬁt%aﬂﬁﬁ

Toregen <t TrETeIT AT ¢ |
(D) Treror s/ ol i s ® |

12
|Yellow = 3M | Green=2M | Blue= 1M |
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Which of the following learnin

materials is suitable for students wit

partial vision ?

(A) Three dimensional maps and charts.

(B) Small sized printed worksheets.

(C) Information given by speaking,
) tactile notice boards (Braille).

L

| freror wmlt STl iy

1 BT % forw g7
(A) @ 3T TR 3 =
(B) BIE 3ATHR o Gfgd Ten3fic

(C) dietd Tei gt &g g < g
ISR (5A)

D)

teachers know that they have
areas, they need to work on, and they
want to improve.
(A) High will, Low skill
(B) High skill, Low will
(©)
(D) High will, ngh skill

S 8 T 36 v

mmﬁ T T i STTALIHA &
3N S IR K1 =TEd @ |
(A) 3= 301, HH HITA
(B) 3= , P $THT
©)
(D) 3= g8, 3 hI3

The four principles of effective

instruction are as follows. Arrange them

in a proper sequence

1. Expect to get them and support
them along the way.

2. Start where your students are and
know where they are going.

3. Use feedback to get them better.
Focus on quality, not quantity.

Wﬁ%ﬂ%wﬁaﬁww%lﬁ

3fa she T sgafed ot |

1. 319 fiyer < smem = 3t U= |
37T GHA T |

2. IE B TE ATTH BH & 3N IAH 6
éwaﬂ%%w

3. 3% SER S0 & fae ufdfsean
IFIT R |

4 TSl T SIH <, W WA |

(B) 2,1,3,4

(D) 4,3,1,2
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Academic part of Education at School
level is controlled b

(A)

(B) National Council for Educational
Research and Training (NCERT)
(C) National Institute for Educational

Planning and  Administration
(NIEPA)
(D) National Council for Teacher ;
Education (NCTE)
Teremmerar T o farerr w1 Seafores s foperh
g b fepe smar 7 2

(A) ferparfereer sgeM AR (i)

(B) Ugw Afeshr FgEu™ 3 ufdreqor
NG (TSRS

(C) ﬁfwaﬁwaﬁtwﬁ;mr@a
I (T

(D) Rer fiem % fm g uftg
(TTEER)

A teacher can enjoy teaching as a |

profession when he/she

(A) iets resEect from the students.

(B)

(C) has better qualification than his/her
colleagues.

(D) 18
chancello

Teh freter U1 o &9 | 318701 57 37He 99

o HehdT & 9 98
(A) BE 8 THH T2 |
(B)

AT R |
(D) Teiferaer = amsq wEeR & HF # |

guidance.

(A) Authoritative (B) Authoritarian
©) (D) Disengaged
g S oaferd
TEH i # |

(A) IR  (B) HamEmGl

(C) g (D) fereenfua

13
|Yellow = 3M | Green=2M | Blue= 1M |

close ro principal or vice

(C) 38% HARMEl I gorT H T&d

styles of discipline provides

71.

72.

73.

GET IT ON
Google Play

‘I will now explain to you how to play’

is

(A) teacher talks about own teaching

(B) teacher’s response to action of the
learners

©

(D) teacher explains a rule
37 T 3Tah! aHeS T 6 SR Ter
H
(A) Toreres 37 fyreqor < R & &7d heaT 2
(B) Tremfdfn <1 fomm & fore frerss <t
sk

(©) F

(D) farerss weh foom wmeman

Looking down and not making an eye
contact with the students is regarded as

showing .
(A) Disinterest
(B)
(C) Nervousness

(D) Anxiety or tension

9 @ 3R BE W @ T faem,

feamT aFT ST R |
(A) g (B) A
(C) TsRIEe (D) T =1 e

Co-curricular activities are organized in

schools so that in students —

(A) Feeling of jealousy increases

(B) Collaborative working attitude is
developed

©

(D) Respect towards the school increases

foemerat A urew wEHr TRt W
IS foRa ST 2 fer St 3

(A) $a1 6l HTeAT 9 ST |

(B) TAT shrHehTSi W= faresfira 81 9 |
(©)

(D) ket < Ffd HEH sl & |

NKP
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The most appropriate method of

teaching arithmetic at primary level is
(A) Demonstration method
(B) Play way method
(C) Synthetic method
(D) Equation method
TIYfleh &R W IR UeH Sl ded

Iugeh faftr 2

(a) e el

(B) = o fafer (Play way)
(C) Thafes faf

(D) Tfistor farfey

The most important challenge for a

teacher in the class is

(A) making of teaching and learning
process difficult

(B) maintain discipline in the class

©)
(D) None ofthese

s ek o fore wen # g9 "l

TN et 7

(A) Treror 3R diga i ufskn =0 i
AT |

(B) hal § STRIEA SHIC TEHT |

©)

(D) TTH T IS T2

Students asking questions in the class
room should be

(A) advised meeting teacher after class
(B) discouraged

(C) encouraged

(D) punished

HE HE H T2 IS aTet forenefi =i
(A)

(B) gdlcaTiad fepan STHT =fa |
(C) icaEa fopam ST =nfee |
(D) cfed fepan s =nfae |

14
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GET IT ON
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needs the ability to touch with
one’s emotional state.

(A) Intraﬁersonal Intelliience

(B)
(C) Linguistic Intelligence
(D) Logical Intelligence

w1 foret i e fRafa
1 B <hY &1l BT SATEYIRAT BNl § |
(A) TREafeh gigaa
(B) St gl
(C) WSS g
(D) irfeheh Sfgae

People who communicate and interact
with one another is .

(A) Structured Relations

(B) Interpersonal Relations

(C) Intrapersonal Relations

(D) Mutual Influence

S AT Tk GER o H1Y HATG 3R STa=
FA 8, TT g1

(A) TXfed qeg

(B) 3Tdadhen Tay

(C) UREIieh gae

(D) R e

‘When you do a piece of work, you get
a praise from teacher.” This gives a sense
of recognition which fulfils
needs.

(A) Safety and Security

(B) Physiological & Biological
©)

(D) Esteem and Growth

‘e Y IS M Hd &, al 3Th! W1eTh
H 1 et 8 1 ¥ e ohl HTeHT ol
B 1 TELAT Bl T HT 2 |

(A) S=Te 3T FRaT
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A group is not when .
(A) people are not sharing
common goal

(B)

(C) are aware of one another

(D) perceives themselves to be a part of
group

T g a9 a1 gl o

(A) T 3T T T H @ T H |

®E|

(B)

(C) THERFIRATIE |
(D) Gg I g I 681 7 ¢ |
Delegation of work by an individual is

(A) Iuthority

(C) Recognition

(B) Induction
(D) Responsibilities

frft s gu s I IS R
(A) SifEPR (B) ST
(C) Hi=dl (D)

conveys thoughts, feelings or
ideas to others.
(A) Receiver (B) Encodér

(C) Sender (D) Decoder

Toramd, wemstt I awonsT

! GHU T TEaT B |

(A) STHeR (B) EhIst
(C) J9h (D) fepiet

exhibits self-confidence, self-

motivation, demonstrate sense of pride |
in work assignments, receptive to new |

ideas, processes and people.
(A) Attitude

(D) Responsibilities
mﬁwﬁ ATH- ﬁwnu'cﬁﬁa
Al 8, S TS fmé%ﬁ 9T , T |

fari, YHRUH s @ % 9h |
TrRTSfrerT e e 2 |
(A) (B) Afershert

(©) (D) Forefe

15
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GET IT ON
Google Play

deal with the central problem
of teaching learning act.
(A)
(B) Teaching-learning
tactics
(C) Use of appropriate audio-visual aids
(D) Use of hardware and mass media

Treqor srfermm Tk <6t el
e 8 Fred € |
(A)
(B) Toreror — fepmy <6t worhfet 37k et
(C) 3UYH HT-gT I T ITART
(D) BTSRR 3R THER HIEIHT Sl TN

is not a component of
teaching as a scientific process.

(A) Content (B) Communication

(C) Feedback (D) Examination
T I Uik % w9 W

Treqor <1 Uk Tk TET B

(A) fo (B) Hel
(C) Sifeifsran (D) e

Good teaching is a result of

(A) Teacher training

(B) Experience

(C) Command over subject and good
communication

(D) Friendly behaviour with students

=1 Trequr fohment uftome 2 7

(A) Toreres wfsreror

(B) SE5e , ,
(C) Towar 37t 3= TR W e
(D) BTl o 1Y QEIHT SGER

In the class-room, the teacher’s role is
(A) Guide and philosopher

(B) Leader of the group

©)

(D) Only as friend

hefT-hel o, freres o1 wiftrent B B
(A) TTEE AR i

(B) o T

©) .

(D) et R & €9

strategies and

NKP
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As a teacher, how will you try to get rid

of the social evils ?

(A) By awakening public consciousness

(B)

(C) By publicity through posters

(D) Thinking that these social evils can
never be removed, so let them be.

Th freeh & &9 7 17 wrwIiSTh gl € |

HY BRI TH T JITH T ?

(A) SRIGHT SR

(B)

(C) 9T o ATEqH & =R g

(D) I8 |reqT foh 3 TmmTfores s ot
et g T2 TR S | B, Al 3%
e Kl

The main objective of teaching is

(A) To use teaching aids to simplify |
: 92,

teaching
(B) To complete the syllabus
(C) To facilitate learning
(D) None ofthese

Tarequr 1 T e B

(A)ﬁwaﬁwaﬂﬁ%%qﬁmwg

e T 1 ITFT T |
(B)
(C) g &t gigen JygH & & fore
(D) 378 & IS &

Teacher will work in best interests of
by respecting the diversity | 93-

of the heritage, language, identity and

culture.
(A) Parents (B) -
(C) Peers (D) Learners

Torereh forrera, WToT, 9E=H 3TR §Eh(d 6

f&d o s T |
(A) wa-far (B) §ES
(C) wmeRi (D) Trenf

16
|Yellow = 3M | Green=2M | Blue= IM |

91.

GET IT ON
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Teacher uses that gives learner
opportunities to show what they have
learnt, and what they can do with that
knowledge.

(A) Feedback
(B) Assessment

(C) Learner’s contribution

(D) Records

fareren H1 I H@T g S
et <« 77 fe@m %1 sem e @
g T HiET & TR 9 3H I o 1Y =
HLHBA S |

(A) Sfdfsa

(B) AT

(C) Fregreff =1 e

(D) AfrerE

What is the most important for learning ?
(A) Common sense

(B) Knowledge

(C) Encouragement by teacher
(D) None ofthese
e & fore o8 e R 7

(A) ETH qH

(B) §H
(C) Taretes grT ST

(D) 3T U IS T

To which of the following will you give
importance while using teaching aids ?

(A) Price
(B) Student interest
(C) Attractiveness

(D) Magnificence
oo wEre At &1 T wd a9

3 Fefafgq H & fore mea & 7
(A) Hed (B) BT feer=ref

(C) BreRsmt (D) e
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The quality of an education system and

the profession of educators within a |

system depends mainly on the
who guide and ca _
tasks and activities of education that take

place within the schools and institutions g

in the system.
(A) Principal
(C) Teacher

T fre
o it fR1eTehi o1 U I €9 9

(B)

Vice Principal
(D) Coordinatot

e foke e 2 S et 3 oo |

3R wfafaferti @1 Henfera tar & S
e 3 Tt AT TR 3 A ST R |
(A) JgETEI™sh (B) BU-SEMHIEYh
(C) e (D) W=
All teaching is a combination of

(A) Interest and readiness
(B) Readiness and abilities

8 Skill and will

L freqor 1 Teh GIISH 8 |
(A) B 3T qeraT

(B) Tt 3R &THard

©)

(D) £33

The major problem in attending Indian
rural schools to face global competition is
(A) Lack of good teachers

(B) Lack of proper school buildin

(©)

(D) None ofthese

Sfvaes foeaet 1 amHT S & fofe Rt
e ket o VT o H g T 8 |
(A) Trerent 1 et

(B) 3fa e <t Sl

© ﬁ

(D) £l

When a teacher explains any thought or

fact to the students, it’s called
(A) Communicat
(B) Teaching skill
(C) Demonstration
(D) None ofthese

TSl <hig f1eTeh ST Wl I3 fo=m a1 9%
TSI &, 1 38 gl ATl 2

%

(B) TRreqor shisret
(D) T8 & IS Tl

(A)
©)

17
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ST 6T TTeT S T omedt
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Seema learns every lesson very quickly
but Lina takes longer to learn them. This
denotes principles of

(A) General to specific

(B) Interrelationship

(C) Individual differences

D

;%31 W U H TG Seql d@ I @
QAfer i 32 e | 31feres T ot 7 |
PL: % fagral S g 2 |

(A) I @ fafis (B) SAqdes

(C) =t s (D) et

If you wish to develop intellect of a
student, which quality of his/her should
be encouraged more ?
(A) Create a helpful
environment

(B) Interference by parents and teachers
(C) Criticism by parents and teachers
(D) Create a strict atmosphere

Ife 319 B 1 gfg femi e = E,
G 3Es frE T F S et
ST =R ?

(A) Ush TR R ST arareer sAmd
(B)
(C) wrar-Toar 3 frerent gra srretremT
(D) Tsh T HTEIA SHTU

and fearless

is rightly said to be the right
hand of the teacher as no teacher can
think of teaching effectively without its
use.

(A) Globe (B) Maps
(C) Apparatus (D) Blackboard

I ek 1 T Y Hal
ST 8 Rifes i off faretes ok SUAT %
o gt &1 O Uen & SR ° | ot TE
Thar s |
(A) e () (B) HHRER
(C) S (D) SIhsIS
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Section-C / I T-§
General Awareness / HTHI SITTTRschdl

101. Who is considered as the most powerful ; ; 105. Who was the founding President of

Chola ruler ?

(A) Rajarajal (B) Adityal

(C) Rajendral (D) Parantaka I
o vIfeheTett =iet SIeeh fohll IAT STrar g ?
(A) TSRS 929~ (B) 3ATfeey gom

(C) Teig 9uH (D) I IUH

By whom was the first picture of Bharat |

Mata made ?

(A) Abanindranath Tagore

(B) RajaRavi Verma

(C) Nandalal Bose

(D) None ofthese

YA HTdT 1 Ugell fost fohereh grn smm
T 7

(A) ASHIZATY TR (B) T el oo

(C) @@ ™ (D) 3T H hIS Tl

‘Alamgir Nama’ is a history of which of |

the following Mughal emperors ?
(A) Aurangzeb’s reign

(B) Shah Jahan’s reign

(C) Jahangir’s reign

(D) Akbar’s relgn

o

ST T feferfiaa

STCIITE 1 3fR@ & 7

(A) SIS T AEA

(B) STESTEl T E

(C) STEMI =T 2Me

(D) s kT AEA

In which of the following annual session
of Congress was Jawaharlal Nehru
elected as President of Congress ?

(A) Haripura session, 1938

(B) Lahore session, 1929

(C) Bombay session, 1934
(D) Karach1 sesswn 1931

S0 & f=fiflgd § @ feg oiffs
AREIE T AT 8% bl hiUT
FTEE T T AT 7

(A) BRU AfesH, 1938

(B) STER AT, 1929

(C) i 3ferawH, 1934

(D) U=t M, 1931

H ¥ fore gl

i
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106.

107.

108.

Congress Socialist Party ?
(A) P.C. Joshi

(B) Jaiprakash Narayan
(C) Acharya Narendra Dev
(D) Ram Manohar Lohia

I FIRCTL ITET oh TEATTH I DA
J 7
(A) F.H. St (B) STATRI TRE

(C) IERAE G (D) TH TR Alfea

Which of the following Mahajanpadas
had capital Champa in ancient India ?
(A) Vajji (B) Kashi

(C) Vaishali _ (D) Anga

g WRd H fefafgd ® @ fd
HETSHYE sl TG =T off 2

(A) afs (B) 1Mt

(C) st (D)

Which of the following is associated

with the Gupta age of Indian history ?

(A) Visit of Chinese pilgrim Hiuen Tsang

(B) Macedonian invasion

(C) Significant contribution to Indian
astronomy by Aryabhatt

(D) Significant contribution to poetry by
Banabhatta

freafeafea @ 9+ o1 ard sfoem +

THIT A ARG R ?

(A) < A 77 @ 6 A

(B) DI JTshATT

(C) MY g 9™ Ehd-fogH &
HEEY! AMTEH

(D) STUTYE R Shicdl § Tgeaqul AMTeH

“The Rigveda includes more than a
thousand hymns.” - By which name they
are known as ?

(A) Smrit (B) Kandak

(C) Mandala (D) Sukta
“Fde T Ush SR H 3Tf0eh & Tt 8 17

Iz e am AT ST e ?

(A) T3 (B) o

(ORESI (D) T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

109.

110.

111.

112.

24

The part of Himalayas, situated between
Satluj and Kali River is knownas
(A) Kumaon Himalayas

(B) Nanda Himalayas

(C) Middle Himalayas

(D) Assam Himalayas

% WHT I T AT S |
(A) T fearerd  (B) er fawrer
(C) 7ea fgare™ (D) 31H feamem™

Which one of the following statements is

not correct regarding Ladakh ?

(A) Ladakh is a cold desert.

(B) Ladakh is a Union territory of India.

(C) Average rain in Ladakh is 10 cm
per year.

(D) The literacy rate of Ladakh is only
7.16%.

ffetiad o § i 91 %o TEM & 99y |

HEE RS ?

(A) TETE T 38T R 3 |

(B) TIERE WA T ohg, A TSI 2 |
(C) wrera H afigq srier afoay 108 2 |
(D) e sl HI&HAT T haed 7.16% 2 |
What was the former name
Jamshedpur where “Tata Iron and Steel
Company Limited” is situated ?

(A) Sakchi (B) Bagchi

(C) Salem (D) Bhadrawati

of

Haqst 3T et e & s feoa fearem

ST 3T G AT 9T o1 &l “TMReT AT

Ug Wil s ferfiee” fed g 2
(A) drehdl (B) ST
(C) & (D) wgTadt

With which one of the following rivers

is the Omkareshwar Project associated ?
(A) Chambal (B) Tapi

©) Narmada (D) Bhima
THRTER i ffalea o @ %&r

qﬁﬁgﬁr% ?
(A) 9§ (B) ardt
(C) W (D) ¥
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114.

115.

GET IT ON
Google Play

Which of the following is Khetri famous
for ?

(A) Alumintum  (B) Fertilizers

(C) Gold (D) Copper
freferfea o & waeh forass fow ufirg & 2

(A) Tegfaf=m (B) 39k
(C) ®H (D) dis

Why India and its neighbouring
countries are together called the Indian
sub-continent ?

(A) vast size of the area

(B) political dominance of India

(C) region’s aloofness from the rest of
the world

(D) typical economic links between the
various member states

IR 3R 3US TSl < i e

AT ITHRTET 1 shal Sl g 2

(A) &7 HT fIemeT SAHR

(B) YR o1 TSITceh T

(C) 9 g | & 1 guehed

(D) fafim wewr T=wi & o= fafme
afes qay

In which of the following areas, is peaty
soil found ?
(A) the Kashmir valley
(B) Madhya Pradesh
(C) Coastal area of Odisha
(D) Rajasthan
=1 5 @ forg & 0 e gt o STt 2 2
(A) HIH L
(B) HEH UG
(C) 3nfesn = ad= &=
(D) TSI
NKP
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Which government agency is responsible
for the mapping and exploration of
minerals in India ?

(A) Survey of India

(B) Geological Survey of India

(C) Minerals Development Corporation
(D) School of Mines

Wﬁ@ﬁﬁ%mﬁmaﬁraﬁw%

for =i it Tl woiEht iR @ 7
(A) TR Teeqor

(B) W yaTies waeqor

(C) @i faerm fm

(D) T AT HIEH

Which of the following area is declared
as India’s first marine eco-sensitive zone

by ‘The Ministry of Environment and ;

Forests’ ?

(A) Gulfof Kutch

(B) Palk Strait

(C) Gulf of Khambhat
(D) Gulfof Mannar

foretferfiaa o @ fohm &m0 =1 TR SR |
o TAEE G YRG bl UEe HOd

1T -FaeRiieT & Hifyd feran g 2
(A) FSHI G (B) UTh Tedrs
(C) @Y H @ISt (D) HAR ol @il

| 121

In which of the following states Cold |

Desert Biosphere Reserve is located ?
(A) Uttarakhand

(B) Jammu & Kashmir

(C) Himachal Pradesh

(D) Ladakh

e 5 3 fop T ﬁ?ﬂﬁﬂ?@?{?ﬂw

ford fRma g 2
(A) ITREE

(C) Temree sem

(B) A 3TR SR
(D) W@
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Which two forms of alcohol do we
include in biofuels ?

(A) Propanol and Ethanol

(B) Methanol and Ethanol

(C) Propanol and Methanol

(D) None ofthese

BH J-399 T IThIEA o o Gl FI ol
M FAE ?

(A) TOHTe 3R TATA

(B) AT TR WeHieA

(C) ATl 3R AT

(D) ST ¥ IS &1

Which of the following elements is
responsible for groundwater pollution in
various states ?

(A) Fluoride (B) Chlorine
(C) Sulphur (D) None of these
frefefieaa § @ & a1 9 fafie Tt |

VST SIGHUT % foTg FTigR B 2
(A) FIIAIES (B)
(C) Tl (D) 314 | 15 &l

Who wrote the famous book ‘Aaj Bhi
Khare Hain Talab’ (‘The ponds are still
relevant’) ?

(A) Amritlal Vegad

(B) Rajendra Singh

(C) Sopan Joshi

(D) Anupam Mishra

aftrg TEdes IS ot @ 8 A’ (e
areft ot sl @) fope forelt 2 2

(A) ITTA TS (B) Wi e

(C) AUE SR (D) 379 fHen
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Who among the following is popularly
known as ‘Waterman of India’ ?

(A) Kailash Satyarthi

(B) Jadav Payeng

(C) Rajendra Singh

(D) Anupam Mishra

frfeiaa 5 @ fopdt ehlR ®9 & ‘areeE |

3T SFgar’ o 19 | ST AT 8 2

(A) S el  (B) STed R

(C) TSz Tz (D) 37 s
Why carbon dioxide gas is primarily
called a greenhouse gas ?

(A) Traps heat

(B) Traps light

(C) Traps warm currents

(D) None ofthese

e SE3TaEE T &l §&F &9 9
fiersd 4 I HaT AR 2

(A) T I UhaT 2 |

(B) JehT3T bl TehelT 2 |

(C) T a3l o Yehel 2 |

(D) ¥ 4§ g T

What does UNFCCC stand for ?

(A) United Nations Framework Control

on Climate Change

(B) United Nations Framework
Convention on Climate Change
(C) United Nations Framework

Communications on Climate Change
(D) United Nations Framework Climate
Communications Council

3 T U w3y 2

(A) IATELE AYE WHIS Hald A
FATSHS =

(B) IATELE AFH hUaeh HeawH A

FATSHS =t

(C) FATELE 90 AT HRYhed 3 |

FATIHS =l
(D) IATEeE 98 AT
HRY(RE B3

FATSHS |
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125.

126.

127.

GET IT ON
Google Play

Ms. Bachendri Pal had undertaken a
unique expedition for focusing attention
on which of these ?

(A) The Girl Child

(B) One Nation One Family
(C) National Integration
(D) Spirit of Adventure

Goft SIigt uTet | T 9 fohd W eI higd
U o ToTT Teh ST HANR—H T o1 2

(A) STfetent
(B) T TY T R

(C) TEH Tehal
OEIREEIRICE

Ali Akbar Khan was famous for playing

which of the following musical
instruments ?

(A) Flute (B) Sitar

(C) Tabla (D) Sarod

et 3rher @ F=fafga 7 9 forg 9w

I I 9T & fU g & 2
(A) sigd (B) faam
(C) e (D) &g

Who was the first Indian to win The
Booker Prize ?

(A) Dhan Gopal Mukherji

(B) Nirad C. Chaudhuri

(C) Arundhati Roy

(D) Aravind Adiga

“SJoR JUEhT” ST e SR R S & 7
(A) & T s

(B) g . =t

(C) reafd T

(D) 3rferg srfem
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In his ‘Tryst with Destiny’ speech,
which one from the following said “The
ambition of the greatest man of our
generation has been to wipe every tear
from every eye” ?

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) Lala Lajpat Rai

(D) Sardar Patel

AT e fe et oo & e |

Y fE wE o1 B g ) % TR
UgH Ak hl AGThIA & 31E 4 &
g die HI &R 2

(A) TEEHT T (B) SHETeeld J6E
(C) SATAT ATId T (D) TR 9o

Who among the following was an Indian

physicist known as “The father of Fiber |

Optics™ ?

(A) Sam Pitroda

(B) Dr. Vikram Sarabhai
(C) Narinder S. Kapany
(D) C.V.Raman

W@ﬁﬁﬁﬁwmﬂﬁrﬁ%ﬁg
o 9 = “BrEs e & S E |

FEIACE ?
(A) &u fosiar
(C) ARG wE. Hurt (D) =t T

Name the

(B) ST. farshm Aemg

134,
founder of SEWA (Self |

Employed Women’s Association) who |

was awarded Padmabhushan.
(A) Elaben Bhatt (B) Baba Amte
(C) Aruna Roy (D) Medha Patkar

a1 (SEWA-S-faifsa afgen g99) 6

TEATISH 1 A9 FaRy, e T &
T fohaT T o |

(A) SAEAHE  (B) W1

(C) 3T&on U™ (D) T ITeaht

;
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GET IT ON
Google Play

Who among the following has been
honoured with the French government’s
highest honour- Chevalier de ’Ordre des
Arts et des award ?

(A) K.S. Chithra (B) Aruna Sairam
(C) Asha Bhonsle (D) Hariharan
frefetiad § & fohe hid ¥ChR < daT

M - JATRR S &' 310 30 3TeH T 30

T & FeTd R T R 2
(A) Hm. o (B) swomam
(C) ImMHIEA (D) BEH

Who among the following was the first
from India to be awarded the prestigious
Pritzker Prize ?

(A) Charles Correa

(B) Brinda Somaya

(C) B.V. Doshi

(D) Ganesh Deolalikar

frefetRad § & & YRd & Tgal oafh o

e wfafsa freem R @ gefia

P e 7
(A) I8 BT (B) &1 AWRT
(C) St geft (D) O IR

In which year Chittorgarh Fort has been

designated under UNESCO World

Heritage Site ?

fciteme fohet o1 fopm o Fent fowa

TR TS o &Y H 10T foham T g 2

(A) 2013 (B) 2018

(C) 2022 (D) 2023

Who is the author of Rajasthani book

‘Alekhun Amba’, winner of Sahitya

Akademi Award-2022 ?

(A) Jeevan Singh Manavi

(B) Kamal Ranga

(C) Idan Singh Bhati

(D) Deendayal Sharma

qifecd  3TehleH!  JURhR-2022 o
i ‘TG 3T o W@

HHEE ?

(A) Sfaa fg Tt (B) haet T

(C) 3mmger f&g vt (D) aearet smt
]
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Where is ‘Chaurasi Khambho ki chhatri’
located ?

(A) Kota (B) Bundi

(C) Jhalawar (D) Bhilwara
et @i s Ball’ el fR R 2

(A) I (B) 941
(QRCISIEIES (D) ¥ierare

Where was
established in year 1919 ?

(A) Jaipur (B) Jodhpur

(C) Wardha (D) Calcutta
TSR Ta1 T9 hl w1 a9 1919 ¥
el g ot ?

(A) ST (B) gt

(C) =ut (D) HeTehal

The stepwells which collect

subterranean seepage of an upstream
reservoir or lake in Jodhpur region are
knownas .

(A) Talabs (B) Bandhis

(C) Baoris (D) Jhalras

UYL & H S JATR A1 A o YT
fETa o1 I Thid S dTell Iratedt A |
N

(A) dTeTTE (B) et

(C) Frat (D) HTerT

Who was the first Governor of Rajasthan ?
(A) Gurumukh Nihal Singh

(B) Hukum Singh

(C) Dr. Sampurnanand

(D) Raghukul Tilak

TSR o JH TSIUTA b I 7

(A) TeHE FET e
(B) g%w fore

(C) ST HyUTg

(D) T forerh

Rajasthan Sewa Sangh ;

the
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GET IT ON
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Which dance form of Rajasthan is
included in Intangible Cultural Heritage
list of UNESCO ?

(A) Ghoomar (B) Kalbelia

(C) Kachchi Ghori (D) Terah Taali

TSR 1 HF &1 I il 3
e fored =t & e g 2

(A) g1 (B) SHIersifora

(C) ®=HEH (D) WAt

What was the approved and installed
capacity of Ranapratap Sagar Dam for
hydroelectricity generation ?

(A) 172 MW (Mega watts)

(B) 127 MW (Mega watts)

(C) 120 MW (Mega watts)

(D) 25 MW (Mega watts)

STA-Taga 3IcaTeT W fele, [UmIa™ "R
i 3! wliehd Ta w1 ama fopat ot 2
(A) 172 TTETE

(B) 127 WTETe

(C) 120 TTETE

(D) 25 WETE

How many Lok Sabha seats belong to
Rajasthan ?

TSI T oAreh g1 b1 fpat e 8 2
(A) 32 (B) 25
(©) 30 (D) 17

Which city in Rajasthan was called
“Island of Glory” by Dr. C. V. Raman ?
(A) Ajmer (B) Udaipur
(C) Jaipur (D) Kota
. HLal. WA A TEE o fohE e H
“Iia 1 ga” (Island of Glory) &1 T ?
(A) TR (B) 3eAR
(C) SR (D) e
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Which Indian Mega city scored the
highest in the “Ease of Moving Index
(EoMI) India Report 2022 ?

(A) Surat (B) Lucknow

(C) Kanpur (D) Pune

e (33fiumag) sfean fod 20227 #

Tt @h foham 7
(A) T (B) @I
(C) HER (D) T

In which city did PM Modi inaugurate
India’s first water metro ?

(A) Kolkata (B) Pune

(C) Kochi (D) Bhubaneswar
T A 3 R S § WA 6wl
et Wl T 3eETed fohar ?

(A) FIEFF@ (B) T

(C) A (D) TR

Where is the ‘G20 Space Economy
Leaders Meeting’ organized in India ?

(A) Shillong (B) Jodhpur
(C) Bikaner (D) Bengaluru

TRA § ‘G20 TE shHH! ofigd Mfam i

RIS gl fram g ?
(A) Teretim
(C) SR

(B) SIHq
(D) STefE

On which country’s proposal ‘The
United Nations General Assembly’
(UNGA) declared the year 2023 as ‘The
International Year of Millets’, which
was supported by 72 countries ?

(A) India (B) Russia

(C) Nepal (D) USA

TFE <o % TE W EYE T HEEEr
(UNGA) 7 9§ 2023 &l ‘g Soi oy’

Hfva feram, T8 72 <91 <1 a0 wmE o ?
(A) ¥9Rd (B) &9
(C) Ut (D) IuaT
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| 149,

150.

GET IT ON
Google Play

At the Global Education & Training
Exhibition, which country’s Pavilion
was inaugurated in Dubai ?

(A) Indonesia (B) India
(C) Singapore (D) Norway
T dfvees e ok wfreor weet #

e & qugy (Ufaferam) 1 3IgEmed
IERIRIC I

(A) FSHfmE (B) WRd

(C) e (D) e

Complete the theme of Rajasthan
Budget-2023 : Bachat, , Badhat.
(A) Ghatat (B) Aavak

(C) Samriddhi (D) Rahat

TSR §92-2023 6t o =1 gof =i

od, , ded |
(A) T2 (B) 3TE
(C) "ufg (D) T&d

Which of the following film has won the
Oscar Award in documentary short film
category recently ?

(A) Fire of Love

(B) RRR

(C) The Elephant Whisperers

(D) Everything Everywhere

ffoifiga 6 & fopd fthem = &1 &1 4 gt
g fohew 2oft 7 STieRt gEepr Sfiar g 2

(A) BRR 371% o

(B) 3TRATIN

(C) & uferthe fegerwd

(D) walifom Telieea

Which country’s High Commission
announces its Government grant for a
project in Kargil in India ?

(A) Australia (B) Japan

(C) Russia (D) Germany

Tore <31 % IR 4 YA | HRATA § Th
UIESHT o T 319 Tehil 3eH i
o Rl 7

(A) Freferan

(C) &F

(B) S
(D) ST
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Section-D / YT T-¢q

‘Study of mankind’ :
(A) Physiology

(B) Pathology

(C) Anatomy

(D) Anthropology

English / ST

Fill in the blank with the correct option : | 159
No sooner did he go in, she
came out.
(A) than (B) then
(C) when (D) and
Fill in the blank with the correct option : |
The thief ran away he should !
be caught.
(A) lest (B) but
(C) unless (D) otherwise 160.
Fill in the blank with the correct option :
We should abide the rules of
the Institution.
(A) with (B) by
(©) to (D) on
The nearest word that express the
meaning of PLACID-
(A) Clear (B) Enjoyable
(C) Dull (D) Calm 161.
The nearest word that express the
meaning of SLANDER —
(A) Fame (B) Approve
(C) Defame (D) Applaud
The father said to the daughter, ‘Your : 162.
teacher punish you if you
misbehave.’
(A) hasto (B) should
(C) may (D) must | 163.

you are poor, you are honest.
(A) For (B) Since
(C) Though (D) Yet
Select the word that is used for the 164.

25

Change into passive voice —

‘My uncle promised me a present.’

(A) I was promised a present by my
uncle.

(B) I was promised by my uncle a
present.

(C) I had been promised a present by
my uncle.

(D) A present was promised by my
uncle to me.

Change into active voice —
The Hunchback was being laughed at by

everyone.

(A) Everyone was laughing at the
Hunchback.

(B) Everyone laughed at the
Hunchback.

(C) Everyone laughs at the Hunchback.
(D) Everyone is laughing at the
Hunchback.

Use the correct form of the future tense
of the verb given in the bracket-

You French during the next
month. (learn)

(A) will be learning(B) will learning
(C) shall learning (D) are learning

They their dinner tomorrow at
this time.

(A) will have (B) having

(C) will (D) will be having
Fill in the blank with suitable question
tag :

We can help the needy,

(A) can’t we ? (B) dowe?
(C) shall we ? (D) should we ?

Fill in the blank with suitable question
tag :

After the continuous rain yesterday, it
was cold last night,
(A) wasit?

(C) wasn’tit?

(B) is it ?
(D) didn’t it ?

NKP
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The meaning of the phrase, ‘A red letter
day’ is :

(A) A dangerous day

(B) A pleasant and memorable day

(C) A very bad day

(D) An unimportant day

k

The meaning of the phrase,
corners of the earth’ is :

(A) From morning till night
(B) From beginning to end
(C) From all parts of the world
(D) From the very beginning

‘Four

Fill in the blank with suitable preposition :
My mother has been teaching in this

college the last fifteen years.
(A) from (B) since
(C) in (D) for

Fill in the blank with suitable preposition :
She has not read anything

Monday.
(A) since (B) for
(C) from (D) over

Which prefix is found in transport ?
(A) Tra

(B) Tran

(C) Trans

(D) None ofthese

Which prefix would be attached to
counter ? ;

(A) Un
(C) Im

(B) In
(D) En

Which prefix would be attached to
‘agree’ ? ;
(A) Non
(C) Un

(D) In

Which of the following has ‘“-ant’ suffix ?
(A) coolant (B) vibrant
(C) pant (D) dant
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Which is the suffix appropriate for
‘relative’ ?

(A) ness (B) tion

(C) ance (D) ity

Give antonym for the given word —
Adversity

(A) calamity

(C) good fortune

(B) misfortune
(D) diversity

Give antonym for the given word —
Transient

(A) long lasting
(C) temporal

(B) transitory

(D) transition
Choose the correct option to fill in the
blank :

If you had let me know earlier, I

have been able to come.

(A) will (B) shall

(C) could (D) would

Choose the correct option to fill in the

blank :

You look very pale, I think you

go to the doctor.

(A) will (B) shall

(C) should (D) would

Change the following simple sentence to

a compound sentence :

Besides being rude,

arrogant.

(A) He was rude and arrogant.

(B) He was not only rude but also
arrogant.

(C) He was not only arrogant but also
rude.

(D) He was being rude and arrogant.

he was also

Choose the correct option to fill in the
blank :

An airplane flies  than bird.

(A) more fast (B) faster

(C) fast (D) fastest

Choose the correct option to fill in the
blank :

You should not use mobile  you are
crossing the road.
(A) while (B) as
(C) where (D) but
O
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181. ‘A person who does not make any 182. What does the word “yell” mean ?

mistake’ is called . (A) make (B) shout
(A) Intest.ate (B) Agngstlc (C) jump (D) deliver
(C) Infallible (D) Fatalist

Read the Following passage and answer the 183. Wee hours means
Questions given below : (Q. Nos. 182-186) |

(A) hours of late night
New Year’s Day officially begins as

(B) hours of early morning
(C) hours of midnight
(D) hours from midnight till early

soon as people yell “Happy New Year” at ;
midnight. Most people continue partying well
after midnight into the wee hours of the first

day of the new year. In fact, many New Year’s morning

parties include breakfast or brunch. Sometimes

at the stroke of midnight there will be 184. A resolution means in this
fireworks and couples often kiss. One of the paragraph.

most famous New Year’s celebrations takes (A) a complete change in life

lace in New York City’s Ti h
place in New York City’s Time Sque‘lre,‘w e#e g (B) changing only one habit
a huge cut crystal ball drops at midnight in |

front of millions of people standing in the (C) changing the whole lifestyle

cold. Many more millions watch on television. (D) apromise to change only one habit
Some groups, called Polar Bear Clubs, jump
into the cold ocean water on New Year’s Day

as a literal way to start the new year fresh. 185. According to the passage, what is the

New Year’s Day, January 1, is a national | most common resolution that people

holiday in the United States. This means that take ?

schools, banks, government offices and post (A) consume alcohol

offices are closed. Given how much people |

tend to drink alcohol on New Year’s Eve, (B) party
many people wake up on New Year’s Day (C) dancing
with a hangover. The national holiday is a (D) lose weight

good day to recover. Many people go out
partying with their friends on New Year’s Eve; 186. In which of the following cities of USA,

many people use New Year’s Day to visit one of the most famous New Year’s
family members. New Year’s Day is also | celebrations takes place ?

when many people start on their New Year’s (A) Washington

resolutions. A resolution is a promise to | (B) New York

change a lifestyle habit. The most common (C) Detroit

resolution is to lose weight. Many people also (D) San Francisco

join gyms as part of their resolutions.
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Replace the underlined part of the
sentence with one word from the options
that follow :

Her handwriting is
impossible to read.
(A) legible

(C) illegible

difficult or

(B) eligible
(D) ineligible

Replace the underlined part of the
sentence with one word from the options |

that follow :

Shobhit is a person who always looks at
the bright side of things

(A) illiterate (B) optimist

(C) pessimist (D) theist

Choose the correct article from the
options below to fill in the blank :

They  visited college
recommended by their teacher for
admission.

(A) zero article (B) a

(C) an (D) the a
Choose the correct article from the ;
options below to fill in the blank :

Lisa wanted to hear end of the
novel.

(A) zero article (B) a

(C) an (D) the

Choose the correct option to fill in the |

blank :

The prices of all these articles
increased in the last two years.

(A) has (B) are

(C) have (D) was

Choose the correct option to fill in the |
blank :
Are you looking forward Nitin |
again ?
(A) to meet (B) meeting

(C) to meeting (D) to be meeting

From the options that follow, choose the
correct indirect speech of the given !

sentence :

She said, “Oil floats on water.”

(A) She says that oil has floated on water.
(B) She said that oil floats on water.
(C) She said that oil floated on water.
(D) She said that oil has floated on water.

;
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From the options that follow, choose the

correct indirect speech of the given

sentence :

Rohan said to me, “Where are you going

for the vacation ?”

(A) Rohan asked me where I was going
for the vacation.

(B) Rohan said that where I was going
for the vacation.

(C) Rohan asked me that where I was
going for the vacation.

(D) Rohan asked me that where I had
been going for the vacation.

Choose the correct determiner from the
given options to fill in the blank :

There are  books in the library.
(A) every (B) a great deal of
(C) much (D) alotof

Choose the correct determiner from the
given options to fill in the blank :

Vivek thinks he probably does the
work in the office.
(A) hardly

(C) least

Choose the correct verb form from the
options given below :

Defence

(A) defend (B) defender

(C) defensive (D) defense

Identify the correct pattern of the given
sentence :

(B) few
(D) many

I know his address.
(A) SVOC (B) SVO
(C) SVOA (D) SvVC

Choose the correct exclamatory form of
the given sentence from the following
options :

It is a horrible night.

(A) What a horrible night it is!

(B) What night is horrible!

(C) It is indeed a night of horrors!

(D) None ofthese

Fill in the blank with the correct option :
You are going to be late today, you

better hurry up.
(A) are (B) has
(C) have (D) had
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Section-D / Y-

Hindi/i%él
151, g Ffof i & e s a d ¢ 158, Freffaa 39 s W R -
(A) sl (B) 3| (A) Fdar=a - § 7 @ |
(C) Wt (D) e (B) ST — T T Y& I T B |

152. Tl & & fve feben fenfl e g % 7 | (C) wTreraT=3 — T 37t Hre |
(A) T8, Y&, Ad o (D) HHET=A — WA GRI 71 SUTE Sl T |

(B) T, SR, T | 159, T 37 1 oEH 9o i 1 7
(©) F, o, T (A) T (B) g
(D) TSI, TR, hefed (C) Tigd (D) T & HI T8
153. freafefea §9@ smg a7 160. ﬁHg@dﬁ@‘HlsﬂJ’WWﬁFﬁﬁW
R R 7
(A) Saa AR e TR FEY # | N e @)
(B) 1 <5 T 3 1 (C) FrHEam (D) faf=m

(C) T 35eh Teh W YehT TR |

161. fr=rfeRaa 4 @ 32’ wise &1 wHFET=N S

(D) ¥ T UfcieTiereh =e & | WA ?

154, T=feiRiea &9 wgar=a 2 : (A) ¢Ig (B) gufd
(A) TR EFT IR | (C) T (D) MY
(B) TG GRI U 1T T | | 162, ‘T v Tmfofad & forerent wataaTe
(C) Tormer & @ &l S | TR ?
(D) X1 § Tt Tl e | (A) & (B) T

155. ‘359 ga1 el 9 &' ¥ ffofed 5 9 (C) =R (D) T
HAFAA R ? 163. el w1 A R T ?
(A) T (B) HHaTH (A) B HH H TEIA H SITET < T aTedT
(C) TeeT=q (D) HU-HEaT=A (B) Siedt fufa & aren

(C) 9gd dra-Taar &t aTet
(D) Sgd UM L Tl
164. TG H DM HITHE & ?

156. fr=fafgd s A gAfa gm A8 2
(A) 3Ie¢ S At — STETT B T

(B) qa%ﬁ;srémqm%ﬁwém—w (A) 32 (B) T
SIHAT H AT &l C) wgsife D

© gﬁtﬁamaﬁ‘ﬁﬁ‘ﬁw | 165. (ﬁ;m%mwawi(w)wggm

, (A) S HiST Sreran &l

(D) BIq1 Ters, feheft e - afeosd & (B) I fom1 feramt siieran &

atferh T e L () S Rt e A
157. ‘3109 X % AN SARE H B FF A&, | (D) S %# Sieral &1

Ao STedl =afth i QU W’ o T | 166, ‘gp o gEar it T Sigar 7w fhw

(A) THT Ve ThT @TT (A) Tl % Yd STAT & TEl 7

(B) B! Sl Sivrel, A a1 firg | (B) T =T TSl €41

(C) R 9 EH T, 9 &I (C) g Frfer &1 7 s

(D) & Tl =G | (D) St H TEeht TR H o
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167. ‘TS S@THT G 1 A RME 7
(A) IS STHT
(C) TREBAT (D) | ISHT
"t e gRTa 1 1 w1 R 7
(A) U (B) &A1 37T
(C) & & S
faiasRmawge ?
(A) M 3 Hell o & fepar |
(B) et F& g1 T& & |

(C) T & W T Al AT |
(D) T IR TLTS o S §aTT |

TN ST UG 7 g8 B SR o foTT Tk
NEA

(A) FAgH (B) 31%g

(C) A (D) TR
IUS I16C <1 GHTIGT= I a1 &
(A) TSl (B) TS

(C) et O)REEIER
i s o af-fo=se wdig 7
(A) 319 = 3T + ga1

(B) TS =TT + 30

(C) UTEsh =1l + 3T

(D) STETY = ST + 1Y

168.

169.

170.

171.

172.

173. ‘SEI-TGTHL Hal TS ST’ ST 1 37
Tehe ohid ST IT6g T 8 7
(A) ™ (B) Teq
(C) i (D) Ffererafes
174. FA i s agO R S g T8 7 |
G IH 31 9
(A) FW-3AR  HE-TETq (I1G H)
(B) 3UT-3A TAT-HAA
(C) AR -T1Et LSBT |
(D) d9-I™ -5
175. Freafafea i o g g AT ?
(A) 9™ (B) M
(C) fersmr (D) ™
NKP

| 176.
(B) WU eI

(D) amwmasrrrm
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‘G’ 3Teq hT foIeTIH JTeg T & 7
(A) Tereht (B) &
; (C) &t (D) Afeher
177, SURP RN EHE R ?
| (A) fam (B) FHuma
(©) % (D) wgshfe
| 178. HIG-HTE HHH A HAE S 7
A) e (B) s wE
(C) 33 o™ (D) HHUT THH
179. TR HE FE TG I A YG B 7
(A) 3=9™ (B) U
(C) BB (D) g=
180. 3V U frE e AR & 7
(A) 3TTHA (B) 3TTehida
(ORCIEIEED (D) i
181. FA A A dqua s AT R ?
g (A) T8 (B) forgm
(C) @ (D) u&ft
(.. 182 & 186) fFmifetfaa et =i yeeht Jwi
& IR AR

FifEaTcHeh ST 1 HI & 3T Bl Bid
H yfafe arrg, SO, HAe PR 3

. B | 3E] W1YH, Afe TH W68 | e 418, dl 5,

9 2 | I8 g9 ek 31 ° 37 qam i
fou =raed fomn w8, R fer ool §
IR ST 2 | I IR0 e o w9

| oo S W@ 9 8 | 3T | Rl w6 g
| AT 3 e i AR E Brar 7 | iefsh ¥ aR-

| ot @ Top Syt W faveTE 6T U wgd el
| HERI BT | | AT 39 ifEETenes Yaf i S

. 3R YE T W THI TR ST, S0 & g 3T

| AT ST 3R 39 g0 e T S, qf fsf
| SIS Sl gk HEd SRl §9 ¢ H AT &, ey
| 2 e R ST HeRd § | T8 e TR T8 WS %
| fore wwve TE, 9-gRER ST R |

| 182. 3UYH T HI FATTHh 3T MHh o
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It 3FTE H Bisht <l Thfaferti &
YU Ioorg foram T 2 fop

192,

(A) e e 61 S SRR |

(B) ISt o1 Hewd i fora S |

(C) WIS foRaT—<hetTdi <hl ST ST Heh |

(D) feHTcHS JTHATE hI 3T Jerhdl
gierafea &t 5T & |

fferen 3rrfe Toit <h Hie 3 fore sTrevEes &

(A) w9 T 8fes et 1 v

(B) Tdeh 31EeqT ¥ fHgt &

(C) = ¥ & HfeETedsh Sl ol STRE

(D) JATIEAT § e T =

wgéawuﬁmﬁﬁﬁwwﬁm

(A) TR & fF=mi 9

(B) &H-HTeH W

(C) ¥tk M I W

(D) W
A I I T &

(A) T (B) =i
(C) AT (D) Fg
Frferftaa § wox w@ftr =1 e TEi 2
(A) T (B) Tt

(C) WA (D) TR
frefarfad o & w3 @R g :

AT B)

(C) 31 (D) ¥
ffafad 7 8 e S T8 &
(A) = B) T

© = (D) <
frefafad o @ gufera gm a8 &
(A) TR ER - e

(B) fermt@fer - =

(C) THY - a5

(D) feremt |ftr - S|
‘I’ viee H Tyefigd 9 @ s |
T WYH G S 7
(A) A

(©) 3

(B) 31
(D) =1
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frefaflga 7 9 dues’ vise § o F &1 T
I BT R ?

(A) 3T (B) 3%

©) = (D) U=

frerfafga 38 Suert & s g I T R :
(A) A (B) ar

(C) 9 (D) AT

frefafaa & g <1 2 319g ©
(A) FTERIF + AT = FELIHAT
(B) o+ = &in

(C) T +3 = mft

(D) YT + 3HAFhg = Yeldehg

T TR Fefeiied H e i S Ee e ?

(A) STfdeTeeh (B) SAfRFaTES
(C) veIdaTeeh (D) WTeeTeh
ig’ I ‘P’ FAfafaa g o= @
TEm g ?

UNREEEIEED (B) fveRareh
(C) J¥aTah (D) Trvear=e
frefarRea & @ gofera foaem gm 7&i 2 -
(A) 1Y - 3fd (B) JIUHR — JhTS

(C) 3% - T9Fe (D) 31 - 3Me

frafeafiga e fay e T 2

(A) T 3fietr & T foh 98 W&y =t |

(B) Sl g Sieell 7, 38 IS AR T&i T |

(C) B &= I TEATIT 3 TRt W |

(D) T Ush U siaet ¥ fiet, St 9ga
FRER R |

“Higd 9 WioH fopamr & ‘i’ s 8 ?
(A) HrEa (B) ISH
(C) femam (D) 7
Frefafaa 0 9 focefi T 1€ 2
(A) HHHT (B) g
(C) drae (D) sfR
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